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Answer all the questions \}.6
kR s\@ £ , ‘

A1 (a) Discuss about the different database system applica{o@.

6M
(b) Discuss about different levels of data abstractiob 6M
_ OR(\ .

2 (a) Whatis a data model and discuss abou ifferent types of data models. 6M
(b) What are the functions of databasaﬂnimstrator? M
' 3 (a) Explain left outer join and @ger join with examples. &M
(b) Explain about complex %tg rity constraints in SQL triggers. 6M

_ OR _
4 (a) Constructan El@%ram for online train reservation system such as irctc.co.in. &M
(b) Describe Ke%ﬁ onal database rules proposed by Dr.E.Fcodd. &M
5 (a) Disc&ebout the basic structure of ER diagram. 6M
(b) @uss about the significance of mapping cardinalities and its different types. . 6M

OR ' '

6 (a) Define a functional dependency. List and discuss any three inference rules for functional 6M

dependencies. Give relevant examples.
(b) Compute the closure of the following set F of functional dependencies for relation schema r 6M
(A, B, C, D, E).
A—BC
CD—E
' B—D

E — A List the candidate keys for R.

7 (a) Give an overview of the steps involved in processing a query with a neat diagram. 6M
(b) Discuss about the Selection operation performed using File Scans and Indices. &M

, OR .
8 (a) Give an overview of catalog information. 6M
(b) What is materialized view and why is it important? &M
9 (a) Discuss about transaction state diagram and all its states that a transaction goes through 6M

o dl._lring its execution,
) Discuss about buffer management. . "

0 (@) What; OR
hat is 2- ; » N
(b) D‘.sculss 2-phase locking protocol? How does it guarantee serializability. gh
S about handling deadlocks.
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Answer all the questions (\e
1 (a) Explain briefly about the purpose of data base management syst \ &M
(b) How database management system overcomes the disadva of file system? 6M
OR
2 (a) With help of a neat diagram, explain the basic arcwe@ue of a database management 6M
system. 0

(b) Draw a Schema diagram for the university databa@h. 6M

3 (a) SQL allows a foreign-key dependency é&er to the same relation, as in the following 6M
example:

create table manager ?*
(employee name varchar (20) @ g
manager name varchar (20@&ull,
primary key employee name

foreign key (manager. @) references manager on delete cascade )

Here, employee n a key to the table manager, meaning that each employee has at
most one ma “The foreign-key clause requires that every manager also be an
employee. Ex exactly what happens when a tuple in the relation manager is deleted.
(b) Discuss t integrity constraints. 6M
\L§ OR
4 (a) t are the advanced aggregation features in SQL and discuss their need? &M
(b) m is a weak entity set? How is it handled in ER diagram? &M
5 (a) Explain the need for normalization with suitable example scenarios. 6M
(b) Describe about the multi-valued dependencies with suitable examples. 6M
OR
6 (a) Suppose that we decompose the schemar (A, B, C, D, E) intor1 (A, B, C) r2 (A, D, E). 6M

Show that this decomposition is a lossless decomposition if the following set F of functional
dependencies holds:

A — BC
CD-E
B—-D
E—A
(b) Explain the distinctions among the terms primary key, candidate key, and super key. 6M
7 (a) Whatis the purpose of sorting in SQL queries? &M
(b) Explain external sort - merge algorithm. 6M
OR
8 (a) Discuss the need for optimizing a query. 6M
(b) How can we say that two relational-algebra expressions are equivalent? 6M
9 (a) Explain ACID properties of a transaction. M
(b) Explain about different types of locks. &M
OR
10 (a) Explain the steps involved in recovering the system from failure with neat sketch. 6M

(b) Explain about view scheduling. 6M

% e ke



(il
| H| \| il il i
" m'“' |||‘ |\|| il |'||' |||||| |
':|I'i"l||\ I
i i

T M w i

‘I\W | ""W”' il r. ;
| il i |||||' .|I ||| !

r “i y,&

it ||| ||||I I|||||||I|| u|||||u il MM“{

:: | l'llnHW“ i "||\|H "WW\'” i
g Mw w,.:H. il E.J#J il

g

ﬂanbmmmwogsmmm EH i

I ||.-' rH : pil I| |I i i o W'
I.if,.llll I|I I || Ii ‘ l | || i||| |||I i || |||||‘| |‘|||||||l|‘||||1|.||"|ll ||| - '_'lll,-'l. !'.
i Hﬁ'{:‘;i;.: | . . ' Mﬁ | “ *lb' ',|I'i:',.l'i|.ﬁ'”|':I|l
ml_ﬂ&_.:

il | exa L e
™ Explain the usage of |+ mg*nlaummm examples. I
A i i '
4 (3) Wrile SQL Quéries for follow uf'!ahlies EW\\@EE EmpNo, Name. DoB.
Address, Gender, Salary, DHuii‘:h!rﬂ ( i wy
I}EPARTMENIT (pﬂimm. Dmamls‘ Hhﬂ . ManagerStartDate).
| [
) Display the Age of ‘male’ emplayeds)

i) Display all employees in Depas 'r'llhamed‘htarkwng'
if)  Display the name of highesjsa
) thmb&qu.d ARG lqe:mmhpany

(@) What is a trigger. Howiucre' : - | i (AN EM
- HR
[l ! | [t =‘ | 1
3 (3) Discuss the pmceﬁsaf Tekrting ER mnﬁeﬂ tulﬂelabqnal model. | M
(@) State INF, 2NF and ,l:l emqlaim.vqim ﬂ-x'&mﬂes : 6M
! I o A Ul
6 (@) Define ER moﬁ% explalm the'fﬂbmn luﬂds of aqn,wamts that can be specified &M
in the ER di an# give an ewamplq! of| eamh ||] ks-'gr constraint ii) participation
constrai g lil
©) What @mmﬂ Dapeﬂdencw Enpiamltgmeé aﬂd pmperhes of FD's. M
. I it
7 la) E@}e the components of qhse |prb¢ehsar i*.nd quew evaluation engine with &M
sary diagram. i A IR
(M How to transform reianmal Eﬂpfqﬁimll'ib“| | |_; i ? I (Ll oM
| 'ii!|"" i .
8'\[3) Write a short ncte on 5mmg o;p-erat|m| ||n quer'hr ﬂmms.rng . oM
Q (0] What 5 maten 1hzed mew E:-rpl:am quﬂry plmumlzatmm with malenaiazed view. oM |
| i .
9 (a) Whatis Tranaacnm Lsat arn:f eTplmJn the Wnems crl’ Transac:!aun oM
(B) Discuss two-phase lock based P uimul mnti' tlme stqmpeci mtnml ami compare &% |
them with suitable examplea T _ | I | : | :
LIt et il i - et
10| (a) What is serializability, E:Lp-lain wdlzw|sen,allzﬁh|hty in detarl | il i 5_;.1-.. i bl
(¥) | Describe the three phawsb’fﬂw AHIE.q recovery mesthud R il




